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 INTERMEDIATE EXAMINATION – 2021 (ANNUAL) 

Model Set 

Geography

Total No. of questions : - 70 + 20 + 6 =96 
dqy iz’uksa dh la[;k %& 70 $ 20 $ 6 ¾ 96

Instructions for the candidates : 

1- ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mÙkj nsaA 

Candidates are required to give answers in their own words as far 

as practicable. 

2- nkfguh vksj gkf’k;s ij fn;s gq, vad iw.kkZad fufnZ"V djrs gSaA 

Figures in the right hand margin indicate full marks. 

3- iz'uksa dks /;kuiwoZd i<+us ds fy, 15 feuV dk vfrfjDr le; fn;k x;k gSA 

15 minutes of extra time have been allotted to read the questions 

carefully. 

4- ;g iz’u&i= nks [k.Mksa esa gS]  ,oa  

This question paper has two sections : Section-A and Section-B. 

 

Time :- 3 Hours 15 minutes 
le; % 3 ?kaVs 15 feuV 

Full marks - 70 
iw.kkZad & 70 

323 
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5- [k.M&v esa 70 oLrqfu"B iz’u gSa] ftuesa ls fdUgha 35 iz’uksa ds mÙkj nsus gSaA 

izR;sd iz’u ds fy, 1 vad fu/kkZfjr gSA vxj 35 oLrqfu"B iz’uksa ls vf/kd ds 

mÙkj fn;s tkrs gSa] rks izFke 35 mÙkjksa dk gh ewY;kadu fd;k tk;sxkA miyC/k 

djk;s x;s OMR mÙkj i=d esa fn;s x;s lgh o`Ùk dks dkys@uhys ckWy isu ls 

HkjsaA fdlh Hkh izdkj ds OgkbVuj@rjy inkFkZ@CysM@uk[kwu vkfn dk OMR 

’khV ij iz;ksx ugha djsa] vU;Fkk ijh{kk ifj.kke vekU; gksxkA 

In Section-A, there are 70 objective type questions out of which 

any 35 questions are to be answered. Each question carries 1 

mark. If more than 35 objective type questions are answered, the 

first 35 answers only will be evaluated. Darken the correct circle 

with black/blue ball pen in the given OMR answer sheet. Do not 

use any type of Whitener/Liquid material/Blade/Nail etc on the 

OMR sheet otherwise the result will be invalid. 

6- [k.M&c esa 20 y?kq mÙkjh; iz’u gSa ftuesa ls fdUgha 10 iz’uksa ds mÙkj nsus gSaA 

izR;sd iz’u ds fy, 2 vad fu/kkZfjr gSaA blds vfrfjDr] bl [k.M esa 6 nh?kZ 

mÙkjh; iz’u gSa ftuesa ls fdUgha 3 iz’uksa ds mÙkj nsus gSaA izR;sd iz’u ds fy, 5 

vad fu/kkZfjr gSaA 

In Section-B, there are 20 short answer type questions out of 

which any 10 questions are to be answered. Each question carries 

2 marks. Apart from this, there are 6 long answer type questions 
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out of which any 3 questions are to be answered. Each question 

carries 5 marks. 

7- fdlh izdkj ds bysDVªkWfud midj.kksa dk mi;ksx iw.kZr;k oftZr gSA 

Use of any type of electronic appliances/devices is strictly 

prohibited.

/ Section-A 

/ Objective Type Questions 

la[;k 1 ls 70 rd ds izR;sd iz’u ds fy;s pkj fodYi gSa] ftuesa ls flQZ ,d lgh gSA 

vius }kjk pqus x, fodYi dks OMR-'khV ij fpfàr djsaA flQZ 35 iz’uksa ds mÙkj nsus gSaA 

           ¼35x1=35) 

Each question from Nos. 1 to 70 has four options out of which only one is 

correct. Mark your selected option on the OMR sheet.  Only 35 questions are 

to be answered.         (35x1=35) 

1- igyk vk/kqfud lwrh oL= dkj[kkuk dgk¡ LFkkfir fd;k x;k Fkk \ 

A- eqacbZ      B- iVuk 

C- dkuiqj     D- x;k 

Where was the first modern cotton mill established ? 

A. Mumbai     B. Patna   

C. Kanpur     D. Gaya 

2- gfYn;k iksrkJ; gS % 
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A- vksfM’kk esa     B- dukZVd esa  

C- if’pe caxky esa    D- dsjy esa 

Haldia harbour is in: 

A. Odisha     B. Karnataka 

C. West Bengal    D. Kerala 

3- e;wjHkat esa dkSu [kfut ik;k tkrk gS \ 

A- lksuk      B- ykSg v;Ld  

C- dks;yk     D- rk¡ck 

Which mineral is found in Mayurbhanj ? 

A. Gold     B. Iron ore 

C. Coal     D. Copper 

4- ef.kdj.k gS % 

A- iatkc esa     B- fcgkj esa  

C- fgekpy izns’k esa    D- mÙkj izns’k esa 

Manikaran is in : 

A. Punjab     B. Bihar   

C. Himachal Pradesh   D. Uttar Pradesh 

5- iksVZ lbZn fdl tyekxZ ij fLFkr gS \ 

A- iukek ugj     B- mÙkj vVykafVd  

C- dhy ugj     D- Lost ugj 
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On which waterway port Said is situated ? 

A. Panama Canal    B. North Atlantic 

C. Kiel      D. Suez Canal 

6- buesa dkSu ekuo Hkwxksy dh mi’kk[kk ugha gS \ 

A- lkaLdf̀rd Hkwxksy    B- ifjogu Hkwxksy  

C- vkfFkZd Hkwxksy    D- tyok;q foKku 

Which of these is not a sub branch of Human geography ? 

A. Cultural geography   B. Transport geography 

C. Economic geography   D. Climatology 

7- ujksjk ukfHkdh; ÅtkZ ifj;kstuk dgk¡ gS \ 

A- mÙkj izns’k     B- fcgkj   

C- dsjy      D- f=iqjk 

Where is Narora atomic energy project ? 

A. Uttar Pradesh    B. Bihar 

C. Kerala     D. Tripura 

8- dksad.k jsyos ij jksgk LVs’ku fdl jkT; esa vofLFkr gS \ 

A- egkjk"Vª     B- dukZVd 

C- jktLFkku     D- vksfM’kk 

In which state is Roha station situated on the Konkan railway ? 
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A. Maharashtra    B. Karnataka 

C. Rajsthan     D. Odisha 

9- ehVj xst jsy&iVfj;ksa ds chp pkSM+kbZ gksrh gS % 

A- 1-6 ehVj     B- 0-7 ehVj 

C- 1-9 ehVj      D- 1-0 ehVj 

The width between two metre gauge rail lines is : 

A. 1.6 metres    B. 0.7 metre 

C. 1.9 metres    D. 1.0 metre 

10- fHkykbZ bLikr la;a= fdl jkT; esa vofLFkr gS \ 

A- e/; izns’k     B- NÙkhlx<+ 

C- ef.kiqj     D- dsjy 

In which state is Bhilai steel plant situated ? 

A. Madhya Pradesh   B. Chhattisgarh 

C. Manipur     D. Kerala 

11- buesa ls dkSu df̀"k vk/kkfjr m|ksx gS \ 

A- phuh      B- lhesaV 

C- bLikr     D- buesa ls dksbZ ugha 

Which of these is an agro-based industry ? 

A. Sugar     B. Cement 
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C. Steel     D. None of these 

12- tukafddh; laØe.k dh vafre voLFkk esa D;k gksrk gS \ 

A- tUe nj ,oa eR̀;q nj nksuksa mPp gksrh gSA 

B- tUe nj mPp ,oa e`R;q nj fuEu gksrh gSA 

C- tUe nj fuEu ,oa e`R;q nj mPp gksrh gSA 

D- tUe nj ,oa eR̀;q nj nksuksa fuEu gksrh gSA 

What happens in the last stage of demographic transition ? 

A. Both birth rate and death rate are high.     

B. Birth rate is high and death rate is low. 

C. Birth rate is low and death rate is high 

D. Both birth rate and death rate are low. 

13- og O;fDr tks ,d o"kZ esa 183 fnuksa ls de fnu dke djrk gS] dgykrk gS % 

A- eq[; Jfed     B- lhekar Jfed 

 C fdlku     D- buesa ls dksbZ ugha 

The person who works less than 183 days in a year is called : 

B. Main labour    B. Marginal labour 

C. Farmer     D. None of these 

14- buesa ls dkSu vid"kZ dkjd gS \ 

A- 'kgjhdj.k     B- vkSn~;ksxhdj.k 
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C- r`rh;d dk;ksZa dh izeq[krk   D- buesa ls lHkh 

Which of these is a pull factor ? 

A. Urbanisation    B. Industrialisation 

C. Dominance of tertiary activity D. All of these 

15- ekuo fodkl lwpdkad dk eku gksrk gS % 

A. 0&0-5     B- 5&10 

C- 90&100     D- 0&1 

The value of Human Development Index is : 

B. 0&0-5     B- 5&10 

C- 90&100     D- 0&1 

16- vaxwj dh [ksrh dks dgk tkrk gS % 

A- foVhdYpj     B- filhdYpj 

C- lsjhdYpj     D- buesa ls dksbZ ugha 

The farming of grapes is called : 

A. Viticulture     B. Pisciculture 

C. Sericulture    D. None of these 

17- lkoZtfud {ks= ds m|ksxksa ij fdldk fu;a=.k gksrk gS \ 

A- ,d O;fDr     B- la;qDr daiuh 

C- ljdkj     D- buesa ls dksbZ ugha 



9 
 

 

  Who has control over public sector industries ? 

A. A person     B. Joint company 

C. Government    D. None of these 

18- Vksfd;ks vkS|ksfxd dsUnz gS % 

A- :l esa     B- tkiku esa 

C- vkWLVªsfy;k esa    D- buesa ls dskbZ ugha 

Tokyo industrial centre is in : 

A. Russia     B. Japan 

C. Australia     D. None of these 

19- Lo.kZ dkWyj lEcfU/kr gS % 

A- iape fØ;kdyki ls   B- prqFkZd fØ;kdyki ls 

C- r`rh;d fØ;kdyki ls   D- f}rh;d fØ;kdyki ls 

Gold collar is associated with : 

A. Quinary activity     B. Quaternary activity 

C. Tertiary activity    D. Secondary activity 

20- yanu fdl egkns’k esa vofLFkr gS \ 

A- ,f’k;k     B- vÝhdk 
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C- vkWLVªsfy;k     D- ;wjksi 

In which continent is London located ? 

A. Asia     B. Africa  

C. Australia     D. Europe 

21- osLVQsfy;k fdl ns’k esa fLFkr gS \ 

A- tkiku     B- Hkkjr 

C- teZuh     D- Lisu 

In which country is Westphalia situated ? 

A. Japan     B. India 

C. Germany     D. Spain 

22- vksfj,aV ,Dlizsl jsyekxZ gS % 

A- ;wjksi esa     B- ,f’k;k esa 

C- mÙkjh vesfjdk esa    D- vkWLVªsfy;k esa 

Orient Express railway is in : 

A. Europe     B. Asia 

C. North America    D. Australia 

23- fuEufyf[kr esa dkSu ifjogu dk lk/ku ugha gS \ 

A- ikbiykbu     B- ugj 

C- mixzg     D- jktekxZ 
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Which of the following is not a means of transport ? 

A. Pipeline      B. Canal 

C. Satellite     D. Highway 

24- ue fcanq cLrh fdl {ks= dh fo’ks"krk gS \ 

A- e:LFkyh; {ks=    B- eSnkuh {ks= 

C- cQhZyk {ks=     D- iBkjh {ks= 

Wet point settlement is a characteristic of which region ? 

A. Desert region    B. Plain region 

C. Snowy region    D. Plateau region 

25- fdl Hkk"kk ifjokj dh tula[;k lcls vf/kd gS \ 

A- nzfoM+     B- Hkkjrh;&;wjksih; 

C- vkfLVªd     D- buesa ls dksbZ ugha 

Which linguistic family has the largest population ? 

A. Dravid     B. Indo-European 

C. Austric     D. None of these 

26- Hkk[kM+k&ukaxy ifj;kstuk vofLFkr gS % 

A- lryt unh ij    B- C;kl unh ij 

C- xaxk unh ij    D- ueZnk unh ij 

Bhakra Nangal project is located on : 
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A. Sutlej river    B. Beas river 

C. Ganga river    D. Narmada river 

27- Xkksnkojh csflu dgk¡ gS \ 

A- mÙkj Hkkjr esa    B- iwohZ Hkkjr esa 

C- nf{k.k Hkkjr esa    D- if’peh Hkkjr esa 

Where is Godavari basin ? 

A. In north India    B. In eastern India 

C. In south India    D. In western India 

28- buesa ls dkSu [kuu uxj ugha gS \ 

A- [ksrM+h     B- /kuckn 

C- dksMjek     D- iVuk 

Which of these is not a mining town ? 

A. Khetri     B. Dhanbad 

C. Koderma     D. Patna 

29- >hy ds lgkjs fdl izfr:Ik dk vf/kokl ik;k tkrk gS \ 

A- js[kh;     B- òÙkkdkj 

C- pkSd iV~Vh     D- buesa ls dksbZ ugha 

Which pattern of settlement is found along lake ? 

A. Linear     B. Circular  
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C. Checkerboard    D. None of these 

30- igkfM+;ksa ij dkSu vf/koklh; izfr:Ik ik;k tkrk gS \ 

A- js[kh;     B- lh<+huqek 

C- o`Ùkkdkj     D- buesa ls dksbZ ugha 

Which pattern of settlement is found on hills ? 

A. Linear     B. Terraced

C. Circular     D. None of these 

31- Hkkjr esa oxZ&1 ds 'kgj@uxj dh tula[;k gksrh gS % 

A- 1 yk[k ls vf/kd    B- 10 yk[k ls vf/kd 

C- 20 gtkj ls de    D- buesa ls dksbZ ugha 

The population of category-1 town/city in India is : 

A. More than 1 lac    B. More than 10 lacs 

C. Less than 20 thousand  D. None of these 

32- dkydk] ,d izfl) ifjogu 'kgj gS % 

A- iatkc esa     B- gfj;k.kk esa  

C- mÙkjk[kaM esa     D- buesa ls dksbZ ugha 

Kalka, a famous transport town is in : 

B. Punjab     B. Haryana 

C. Uttarakhand    D. None of these 



14 
 

33- buesa ls dkSu ,d izkphu uxj gS \ 

A- ukyank     B- paMhx<+ 

C- cjkSuh     D- buesa ls dksbZ ugha 

Which of these is an ancient city ? 

A. Nalanda     B. Chandigarh 

C. Barauni     D. None of these 

34- buesa ls dkSu 'kq"d d`f"k ls lEcfU/kr gS \ 

A. /kku      B- cktjk 

C- xUuk      D- buesa ls dksbZ ugha 

Which of these is related to dry farming ? 

A. Paddy     B. Bajra 

C. Sugarcane    D. None of these 

35- vkWijs’ku ¶yM lEcfU/kr gS % 

A- xsgw¡ ls     B- ukfj;y ls 

C- dikl ls     D- nw/k ls 

Operation flood is associated with : 

A. Wheat     B. Coconut 

C. Cotton     D. Milk 

36- Hkkjr esa flapkbZ dk lk/ku gS % 
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A- rkykc     B- dqvk¡ 

C- ugj       D- mi;qZDr lHkh  

The means of irrigation in India is : 

A. Tank     B. Well  

C. Canal     D. All of the above 

37- Hkkjr esa ty lalk/kuksa ls lEcfU/kr leL;k gS % 

A- forj.k     B- miyC/krk 

C- xq.koÙkk     D- mi;qZDr lHkh 

The problem related to water resources in India is : 

A. Distribution    B. Availability 

C. Quality     D. All of the above 

38- ykSg v;Ld ds eq[; {ks= gSa % 

A- >kj[kaM esa     B- fcgkj esa 

C- ef.kiqj esa     D- dukZVd esa 

The main regions of iron ore are in : 

A. Jharkhand    B. Bihar 

C. Manipur     D. Karnataka 

39- eksuktkbV Ikk;k tkrk gS % 

A- dsjy esa     B- fcgkj esa 
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C- vle esa     D- mi;qZDr lHkh 

Monazite is found in : 

A. Kerala     B. Bihar 

C. Assam     D. All of the above 

40- ykEck lEcfU/kr gS % 

A- iou ÅtkZ ls     B- lkSj ÅtkZ ls 

C- Hkwrkih; ÅtkZ ls    D- mi;qZDr lHkh 

Lamba is related to : 

A. Wind energy     B. Solar energy 

C. Geothermal energy   D. All of the above 

41- dks;yk feyrk gS % 

A- >fj;k esa     B- dksykj esa 

C. xqvk esa     D- [ksrM+h esa 

Coal is found in : 

A. Jharia     B. Kolar 

C. Gua      D. Khetri 

42- tulapkj dk ek/;e gS% 

A- Vsyhfotu     B- lekpkj i= 

C- jsfM;ks     D- mi;qZDr lHkh 
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Medium of public communication is : 

A. Television     B. Newspaper 

C. Radio     D. All of the above   

43- buesa ls dkSu lkekftd Hkwxksy dh mi&’kk[kk gS \ 

A- fpfdRlk Hkwxksy    B- lSU; Hkwxksy 

C- lalk/ku Hkwxksy    D- buesa ls dksbZ ugha 

Which of these is a sub-branch of Social Geography ? 

A. Medical geography   B. Military geography 

C. Resource geography   D. None of these 

44- LFkkfud laxBu HkkSxksfyd v/;;u dk mikxe jgk gS % 

A- 1990 ds ckn    B- 1950&1960 

C- 1930&1940     D- 1930 lss igys 

Spatial organisation has been an approach to geographical study : 

A. After 1990    B. 1950-1960 

C. 1930-1940    D. Before 1930 

45- fo'o dh tula[;k fdl o"kZ lkr fcfy;u gks xbZ \ 

A- 2020      B- 2018 

C- 2011      D- 1975 
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In which year population of the world became seven billions? 

A- 2020      B- 2018 

C- 2011      D- 1975 

46- bu ns’kksa esa dkSu tukafddh; laØe.k dh vafre voLFkk esa gS \ 

A- ckaXykns’k     B- Jhyadk 

C- dhfu;k      D- tkiku 

Which of these countries is in the last stage of demographic 

transition ? 

A. Bangladesh    B. Sri Lanka 

C. Kenya     D. Japan 

47- vkWLVªsfy;k ds vk;q&fyax fijkfeM dh vkd`fr gS % 

A- f=Hkqtkdkj     B- ?kaVhuqek 

C- vk;rkdkj     D- buesa ls dksbZ ugha 

Shape of the age-sex pyramid of Australia is : 

A. Triangular     B. Bell-shaped 

C. Rectangular    D. None of these 

48- buesa ls dkSu fo}ku ekuo fodkl lwpdkad ls lEcfU/kr gSa \ 

A- veR;Z lsu     B- ,ysu lh- lsEiqy 

C- gEcksYV     D- buesa ls lHkh 
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Which of these scholars is associated with Human Development 

Index ? 

A. Amartya Sen    B. Ellen C. Semple 

C. Humboldt     D. All of these 

49- buesa dkSu pyoklh i'kqpkj.k ls lEcfU/kr gS \ 

A- ykek      B- ;kd 

C- jsufM;j     D- buesa ls lHkh 

Which of these is associated with nomadic herding ? 

A. Llama     B. Yak 

C. Reindeer     D. All of these 

50- buesa dkSu O;kikfjd vUu d`f"k ls lEcfU/kr gS \ 

A- xsgw¡      B- tkS 

C- jkbZ      D- buessa ls lHkh 

Which of these is associated with commercial grain farming ? 

A. Wheat      B. Barley 

C. Rye      D. All of these 

51- buesa dkSu i'kq&vk/kkfjr m|ksx ls lEcfU/kr gS \ 

A- dkxt     B- ykg 
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C- Åu      D- bLikr 

Which of these is associated with animal-based industry ? 

A. Paper     B. Lac 

C. Wool     D. Steel 

52- bu dks;yk {ks=ksa esa dkSu teZuh easa gS \ 

A- rkypj     B- :j 

C- vIysf’k;u     D- buesa ls lHkh 

Which of these coal fields is in Germany ? 

A. Talcher     B. Ruhr 

C. Appalachian    D. All of these 

53- buesa dkSu r`rh;d lsok ugha gS \ 

A- ifjogu     B- lapkj 

C- cSad      D- uhfr fu/kkZj.k 

Which of these is not a tertiary service ? 

A. Transport     B. Communication  

C. Bank     D. Policy making 

54- Lhekar lM+dksa dk lEcU/k gS % 

A- rVh; lM+dksa ls     
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B. varjkZ"Vªh; lhek ij fLFkr lM+dksa ls 

C- igkM+h lM+dksa ls 

D- buesa ls dksbZ ugha 

Border roads are associated with : 

A. Coastal roads     

B. Roads on international boundary 

C. Hilly roads 

D. None of these 

55- Vªkal&lkbcsfj;u jsyekxZ gS % 

A- :l esa     B- ;q- ,l- ,- esa 

C- dukMk esa     D- buesa ls lHkh esa 

Trans-Siberian Railway is in : 

A. Russia     B. U.S.A. 

C. Canada     D. All of these 

56- bu 'kCnksa esa fdldk iz;ksx varjkZ"Vªh; O;kikj esa fd;k tkrk gS \ 

A- MfEiax     B- O;kikj larqyu 

C- eqDr O;kikj     D- buesa ls lHkh 

Which of these words is used in international trade ? 
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A. Dumping     B. Balance of trade 

C. Free Trade    D. All of these 

57- Ykks,l eSnku esa fdl izdkj dk ?kj ik;k tkrk gS\ 

A- daØhV     B- xqQk 

C- >ksiM+h     D- buesa ls dksbZ ugha 

Which type of house is found in Loess plain ? 

A. Concrete     B. Cave 

C. Hut      D. None of these 

58- buesa dkSu fu;ksftr uxj gS \ 

A- paMhx<+     B- dsucjk 

C- te’ksniqj     D- buesa ls lHkh 

Which of these is a planned city ? 

A. Chandigarh    B. Canberra 

C. Jamshedpur    D. All of these 

59- tula[;k ?kuRo dk lEcU/k gksrk gS % 

A- tula[;k ,oa lalk/ku ls   B- tula[;k ,oa ifjogu ls 

C- tula[;k ,oa {ks=Qy ls   D- buesa ls dksbZ ugha  

The density of population has relation with : 
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A. Population and resource  B. Population and transport 

C. Population and area   D. None of these 

60- 2011 dh tux.kuk ds vuqlkj Hkkjr dh xzkeh.k vkcknh gS % 

A. 10%     B. 45% 

C. 69%     D. 85% 

According to census 2011, the rural population of India is : 

A. 10%     B. 45% 

C. 69%     D. 85% 

61- Hkkjr esa xzkeh.k vf/koklksa ds izdkjksa dh dqy la[;k fdruh gS \ 

A- 4      B- 2 

C- 8      D- 14 

What is the total number of rural selltement types in India ? 

A- 4      B- 2 

C- 8      D- 14 

62- bu 'kgjksa esa dkSu if’peh Hkkjr esa vofLFkr gS \ 

A- jktdksV     B- /kuckn 

C- iqjh      D- buesa ls lHkh 

Which of these towns is situated in western India ? 
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A. Rajkot     B. Dhanbad 

C. Puri      D. All of these 

63- lM+d fdl Hkwfe mi;ksx oxZ esa vkrh gS\ 

A- xSj&d`f"kxr Hkwfe    B- ou Hkwfe 

C- catj Hkwfe     D- ijrh Hkwfe 

Road comes under which category of land use ? 

A. Land under non-agricultural uses     

B. Forest land 

C. Barren land 

D. Fallow land 

64- dkSu jkT; lw;Zeq[kh dk vxz.kh mRiknd gS \ 

A- dukZVd     B- vka/kz izns’k 

C- rsyaxkuk     D- buesa ls lHkh 

Which state is a leading producer of sunflower ? 

A. Karnataka   B. Andhra Pradesh 

C. Telangana    D. All of these 

65- buesa dkSu tylaHkj.k izca/ku ls lEcfU/kr gS \ 

A- gfj;kyh     B- uh:&eh: 
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C- vjojh ty laln    D- buesa ls lHkh 

Which of these is associated with watershed management ? 

A. Haryali     B. Neeru-Meeru 

C. Arvari Jal sansad   D. All of these 

66- cjkd unh csflu dgk¡ gS \ 

A- if’peh Hkkjr    B- nf{k.kh Hkkjr 

C- mÙkj&iwohZ Hkkjr    D- mÙkjh Hkkjr 

Where is Barak river basin ? 

A. Western India    B. Southern India 

C. North-Eastern India   D. Northern India 

67- fo'o ds fdrus izfr’kr vukt dk mRiknu Hkkjr esa fd;k tkrk gS \ 

A- 5%      B. 11% 

C. 25%     D. 45% 

What percentage of cereals of the world is produced in India ? 

A. 5%      B. 11% 

C. 25%     D. 45% 

68- buesa dkSu [kfut vUos"k.k ls lEcfU/kr gS \ 

A- th ,l vkbZ     B- ,p lh ,y 
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C- vks- ,u- th- lh-    D- buesa ls lHkh 

Which of these is associated with mineral exploration ? 

B.    G.S.I.     B.    H.C.L. 

C.    O.N.G.C.    D. All of these 

69- HkjekSj ftyk gS % 

A- fgekpy izns’k esa    B- fcgkj esa 

C- dsjy esa     D- jktLFkku esa 

Bharmaur district is in : 

C. Himachal Pradesh   B. Bihar 

C. Kerala     D. Rajsthan 

70- Hkhy tutkfr eq[;r% dsfUnzr gS % 

A- Hkkstiqj ftyk esa     B- >kcqvk ftyk esa 

C- pack ftyk esa    D- buesa ls dksbZ ugha 

Bhil tribe is mainly concentrated in : 

D. Bhojpur district    B. Jhabua district 

C. Chamba district    D. None of these 
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Section-B  

Short Answer Type Questions

iz’u la[;k 1 ls 20 rd y?kq mÙkjh; gSaA fdUgha 10 iz’uksa ds mÙkj nsaA izR;sd iz’u ds fy, 

2 vad fu/kkZfjr gSaA         (10x2=20) 

Question nos. 1 to 20 are Short Answer Type. Answer any 10 questions. 

Each question carries 2 marks.       (10x2=20) 

1- ekuo Hkwxksy dh fdUgha pkj mi’kk[kkvksa dk mYys[k dhft,A    

Mention any four sub-branches of Human geography. 

2- ekuo fodkl lwpdkad dh D;k mi;ksfxrk gS \      

What is the utility of Human Development Index ? 

3- ckWDlkbV mRiknu djusokys pkj jkT;ksa ds uke crkb,A     

Name four bauxite producing states. 

4- xgu fuokZg d`f"k D;k gS \         

What is intensive subsistence farming ? 

5- f}rh;d vkfFkZd fØ;kdykiksa dks ifjHkkf"kr dhft,A     

Define secondary economic activities. 

6- i;ZVu ds pkj izdkjksa dk mYys[k djsaA       

Mentiona four types of tourism. 

7- okg~;lzksrhdj.k D;k gS \  
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What is outsourcing ? 

8- lM+d ifjogu dh fdUgha nks fo’ks"krkvksa dks fyf[k,A     

Write any two characteristics of road transport. 

9- iÙku ds pkj izdkjksa dk mYys[k dhft,A       

Mention four types of port. 

10- m"ek }hi dgk¡ ik;k tkrk gS \ 

Where is heat island found ? 

11- l?ku cfLr;ksa ds nks izdkjksa ds uke fyf[k,A      

Write the names of two types of compact settlements. 

12- Hkkjr ds twV mRiknd nks jkT;ksa ds uke crkb,A 

Name two Jute producing states of India. 

13- ty laj{k.k dh pkj fof/k;ksa ds uke crkb,A      

Name four methods of water conservation. 

14- ukfHkdh; ÅtkZ D;k gS \         

What is nuclear energy ? 

15- Hkkjr dh pkj rsy 'kks/ku’kkykvksa ds uke fyf[k,A      

Write the names of four oil refineries of India. 

16- isVªks&jlk;u m|ksx D;k gS \         

What is petro-chemical industry ? 

17- esVªks jsyos D;k gS \          

What is metro railwary ? 
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18- Hkkjr ls fu;kZr dh tkusokyh fdUgha pkj oLrqvksa dk mYys[k dhft,A   

Mention any four export items from India. 

19- gqxyh vkS|ksfxd izns’k dh nks fo’ks"krkvksa dk mYys[k dhft,A    

Mention two characteristics of Hugli industrial region. 

20- y?kq m|ksx dh izeq[k fo’ks"krkvksa dk mYys[k dhft,A     

Mention the main characteristics of small scale industry. 

Long Answer Type Questions

iz’u la[;k 21 ls 26 rd nh?kZ mÙkjh; gSaA fdUgha 3 iz’uksa ds mÙkj nsaA izR;sd iz’u ds fy, 

5 vad fu/kkZfjr gSaA         (3x5=15) 

Question Nos. 21 to 26 are Long Answer Type. Answer any 3 questions. 

 Each question carries 5 marks.     (3x5=15) 

21- Hkwe/;lkxjh; d`f"k dk o.kZu dhft,A 

Describe Mediterranean agriculture. 

22- varjkZ"Vªh; O;kikj esa iukek ugj ekxZ dk D;k egÙo gS \ 

What is the importance of Panama canal route in international 

trade ? 

23- dk;ksZa ds vk/kkj ij uxjksa dks oxhZd`r dhft,A 

Classify towns on the basis of functions. 

24- Hkkjr esa xsgw¡ vFkok dikl ds mRiknu ,oa forj.k dk fooj.k nhft,A 

Give an account of production and distribution of wheat or cotton 

in India. 
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25- Hkkjr esa ty iznw"k.k ds dkj.kksa dh foospuk dhft,A 

Discuss the causes of water pollution in India. 

26- Hkkjr esa tula[;k forj.k dk o.kZu dhft,A 

Describe distribution of population in India. 


